4 .19 Relations between Inverse
Trigonometric Functions
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arcsin(— x )= —arcsinx

. T
arcsimnx = 5 —arccosx

. 2
arcsinx =arccosvl—x", 0<x<1.

arcsinx = —arccosv1—-x*>, —1<x<0.

. X 1
arcsinx = arctan , X <1,
2

arcsinx = arccot

[—
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arcsinx = arccot -m, —1<x<0.
X
arccos(— x) =T —arccosx
arctan(— x) =—arctanx
i
arctanx = ——arccotx
2
. X
arctanx = arcsin
1+x?
1
arctan x = arccos ,x2>0.
1+x2
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1
arctanx = —arccos———, x<0.
1+x*

o 1
arctanx = E —arctan—, x>0.
X

T 1
arctanx = —— —arctan—, x<0.
2 X

1
arctanx =arccot—, x>0.
X

1
arctanx =arccot——m, x<0.
X

arc cot(— x) =T —arccotx

i
arccotx = E —arctanx

] 1
arccotx = arcsm—2, x>0.

1+x
. 1
arccotx = m—arcsin————, x<0.
1+x°
arccotx =arccos
1+x?

1
arccotx =arctan—, x>0.
X

arccotx =m+arctan—, x<0.
X
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